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Accelerated Math Study Sheet (Chapter 8) Name AN

Solving Equations and Inequalities Block N Date
Test on Chapter 8 is Thursday, March 5

Review your notes, quiz, homework problems, and handouts for this chapter.
Be able to do the following:

Equations

*Solve and check 1 and 2-step equations showing proper algebraic steps

*Simplify (use distributive property and combine like terms) each side of the equation before
starting to do operations to both sides of the equation

*Solve and check equations with variables on both sides.

*Solve equations whose solution is all real numbers or no solution.

*Understand the meaning of “the solution fo an equation"

*Be able to write a one or two-step equation to solve a problem

*Be able fo franslate equations into words and a sentence to an equation

*Define a variable, write an equation and solve word problems

Lnequalities
*Be able to use words and symbols to write an inequality

*Be able to write a inequality by translating from words
*Be able to make a number line graph to show the inequality
*Solve and check 1, 2-step, and multi-step inequalities




Practice Problems

1) Is the inequality
-5 < -2n + 1 true or false
for the value n=4 ?
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2) Graph this inequality on the
number line. x > -2
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The first step in solving the equation

4) Write the inequality for

"a number (n) is at most 6"

this statement:
Five more than the product of
negative 2 and a number is equivalent
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5) Write the equation that represents] 6) Write a one-step equation whose
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7) What is the BEST first step in
solving this equation?

-bx - 9x + 4 =20
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8) Graph 3 <X on the number
line below. \}/
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9) Write the inequality that is
equivalent to this one so that the x
is on the left side.




I Solve(using correct algebraic sfepm these equations and inequalities
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Solve(using correct algebraic steps) and Check these equations and inequalities
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Solve(using correct algebraic steps) and Check these equations and inequalities
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24) The solution to this equation is
megﬁiﬁéh, -7 W\ haue o chedd 4y
Find the value of k.

-2(3x + 5) = kx - 10

-k —0 = lkex - |0
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25) Is the number 2 one of the solutions
to this inequality? Show how you arrived at
your answer.
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26) The solution to this equation is
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Find the value of k.
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27) Find the value of k if tha solutiol jo this
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28) Find the value of k that makes the

Solutiont;to this equation@ = X=3
kx + 4x = -2(x - 5) + 8x - 1
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29) What inequality is shown by this graph?
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*Define a variable

*Write the equation *Solve it

Complete the following steps to solve each word problem:
*Write the word model or formula.
*Check that your answer makes sense

30) The perimeter of a rectangle is 126
cm. The length of the rectangle is three
more than twice the width.Find the

dimensions of the rectangle. S s
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31) Sara is considering two different gyms.At
Gym A she would pay $5 each day she
worked out. At 6ym B she would pay $75 to
join the gym and then $2 each day she
worked out. After how many days would the
costs of both gyms be the same?
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Complete the following steps to solve these word problem:
*Define a variable *Write the word model (or formula)

*Write the equation *Solve it

*Check that your answer makes sense

32) One side of a triangle is three times

33) Seven less than three times a number is the

another side and the third side is twice the same as five more than half a number. Find the
sum of the other two sides. The perimeter of | number. ) o1 W — Ale

the triangle is 240cm. Firk+he 3 sides.

|S-“" 3».‘{’
J«A X
3w Q_@*h{)raﬁqﬁ’gx
Periwerer = |8 ¥ ™3
er ) e
Oyp = 3A X F e
240 = [TK
R0 = _’}—}
S
Jdo = X%

184' ™ = 3(ayr = LO Cw~

3™ gy = g ()= 10

ok

e ——
(GO cam, 20 e, 160 T




34)

Solve(using correct algebraic steps) and Check these equations and inequalities
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35) -5x - (3x - 5) = 2(x + 1) -4(5x -2)
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